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import sys
sys.path.append("statlib")
from misc import xtabs

xtabs(df, x, y, row_percent=True, col_percent=True, verbose=True)

2.1 5|¥
df F—F 7L —A
X 7 n AEFHFORAN T 2 LKL
y 7 n RAEFHFOLRHEICT ZEHL

row_percent fT/5MD % MY 5
col percent FIHAID % ZAMT 3
verbose WERANBD 7)) v v %S 2 (57 4V b i True)

2.2 EREbhiEDHAH]

"table" gl

"colsums" S

"rowsums" il

"n" P INTA R

"chisq" X il

"df" H

"pvalue" pfH

"chisqYates" A4 =Y DHIEIC X % x {f

"pvalueYates" A L—YDOFIEIC LS pfl



3 (MBI

import pandas as pd

df = pd.DataFrame ({
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sys.path.append("statlib")

from misc import xtabs
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Sum
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Pearson's Chi-squared test
Chi squared = 8.4988, df = 4,

Chi-squared approximation may be incorrect
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p value = 0.07492

a = xtabs(df, "a", "c")
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[[al] €V) ¢:)) © ()] (B Sum
(bar) 1 4 4 1 5 15
row % 6.7 26.7 26.7 6.7 33.3 100.0
col % 12.5 40.0 33.3 11.1 45.5 30.0
(baz) 5 2 2 4 4 17
row % 29.4 11.8 11.8 23.5 23.5 100.0
col % 62.5 20.0 16.7 44.4 36.4 34.0
(foo0) 2 4 6 4 2 18
row % 11.1 22.2 33.3 22.2 11.1 100.0
col % 25.0 40.0 50.0 44.4 18.2 36.0

Sum 8 10 12 9 11 50
row % 16.0 20.0 24.0 18.0 22.0 100.0
col % 100.0 100.0 100.0 100.0 100.0 100.0

Pearson's Chi-squared test
Chi squared = 9.1105, df = 8,

Chi-squared approximation may be incorrect

p value = 0.33306

a = xtabs(df, "d", "e™)
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[[d]] (D (2 Sum
@) 13 12 25

row % 52.0 48.0 100.0
col % 52.0 48.0 50.0

) 12 13 25

row % 48.0 52.0 100.0
col % 48.0 52.0 50.0
Sum 25 25 50

row % 50.0 50.0 100.0
col % 100.0 100.0 100.0

Pearson's Chi-squared test
Chi squared = 0.0800, df = 1, p value = 0.77730

Pearson's Chi-squared test with Yates' continuity correction

Chi squared = 0.0000, df = 1, p value = 1.00000




a = xtabs(df, "a", "b", row_percent=False, col_percent=False)

[[b]]
[[all A ® © ©)) (E) Sum
D 6 2 4 1 3 16
2 0 3 6 5 5 19
3 2 5 2 3 3 15
Sum 8 10 12 9 11 50

Pearson's Chi-squared test
Chi squared = 13.1089, df = 8, p value = 0.10816

Chi-squared approximation may be incorrect




